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2 (700) AtEBIE & (710) S| Mgt @ (714) 2HH| 2 (207) HPoHEH] &)
o - pas | DE=E = o =
| g 2 Ol & o4
S 466,471 466,471
466,471 466.471|01  eimge)

O SaE Y JI=HE W 466,471,0002 466,471

o = 4,700 4,700
4,700 4700(00  JlEF=2lE M)

=) 2,300

O ZE8 Doz o yas 1,500

O ZE2 52008 29 L Teig - 600

0 =£28 23 - 200

2] 2,400

O 5125 AEAY =7 2,400,000% 2,400
ST 4,000 4,000

4,000 4,000(06  AEZHISAY]

NPETES 4,000

O 5145 T2z 2,000,0002 x 1 Al 2,000

© O X E X BH2HHE, oY B 2,000,0002 x 1 Al 2,000
ool 1,450,708 1,450,708
a0l 1,450,708 1,450,708




(700) ArRIHI (710) Z2HI= g (714) 2O1H = : (307) BI2HOIE &)
i =
ol & o z 2 z
e
1,450,708 1,450,708[05  elatsieta
05 D129t 1,450,708
© 06 BTLEIZIS =2 460,000,0008 = 460,000
© 09 BTLEI2HSIEIE 990,708,0009! = 990,708
gg@m 8,045,129 8,045,129
2 " 67,500 67,500
gg&%—g 52,500 52,500
22,500 2250001  AlRR2IH|
B A g 22,500
O B2AIEAA 27 22,500,000 = 22,500
30,000 30,000(02 =zl
2ze2 2 A 30,000
© Csos M2IAlE SXz2l 222 30,000,000 = 30,000
P 15,000 15,000
15,000 15,000(06  AI&ZHIRXLI
SRS 15,000
© CSOsH2I A& SXI2e 15,000,0008! x 141 = 15,000
S;?gom 7,977,629 7,977,629




2 (700) AtRHHIS g (710) Z &bl Mg (716) Mel&tl (307) eI2t0l & e =)
o - pas | DE=E = o =
=& Mg = Ol &k o
a0l 7,977,629 7,977,629
7,977,629 7,977,629 IR
&3 7,977,629
ZRo4HRIAL 12 6,267,629,0008 = 6,267,629
AADBESISHRNL 012 700,000,0002 = 700,000
S224% M2 212t 1,010,000,0008 = 1,010,000
I — 54,681 54,681
e 960 960
e 960 960
960 960 Lot
22T} 960
+c =82 40,0008 x 22 x 128 = 960
e 33,721 33,721
S 9,700 9,700
3,300 3,300 NESDL
IRe=T] 3,300
0 Sz ABE FEE 0 50 x30,00004 = 1,500
O GI+EANEE DN 2 == 60,0002 x 308t A = 1,800




(700) AFRLHIS g (710) 2| (751) ereraly| = : (201) &2
o - o | DE= 2 =
o | & = Ol & of
6.400 6.400(02 =S
2222 2 A 6.400
O XN S S RUERS 2503 x1,000¥ x 12 & = 3,000
O 434S Bl 3,400,002 = 3,400
%?I:Izl 18,000 18,000
6,000 6.000{01  =LHoi]
ST 6,000
O ot=% R2FA OHE &2&Y 6,000,000& = 6,000
12,000 12.000{02 ool
2001 12,000
O SIS 2IILTAR 20| 10,0002 x 102§ x 128 = 12,000
. 3,600 3,600
3,600 3,600(09 JIErS 2= 4|
Sz 3,600
O 330k 2R =A 3,600,000& = 3,600
s DA 2.421 2421
2,421 2,421 106 INF=FS{sIE=YN]s]|
O X5t SO OlASIH AIAE FRIE | 2,421,000& = 2,421
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(200) AH2EX= 5t (230) REIRFS Mgt - (234) == 2 : (401) AlEHIL LY (¢ - & &)
n =
} - muey | S oa | B 2 & & I =
22,140,812 o| 22140812
- 10,164,000 o| 10,164,000
g 9,994,000 o| 9,994,000
401 9,994,000 o| 9,994,000
Al HI2 2 T ,994, 994,
9,943,713 o| 9.943713/01 Al
Skl Al 5,011,340
© DISEH A AIE IS RS (027 IHA) 90,000,000 = 90,000
OOIS S HRIAE 51422 I SRCHA 120 4) 137,000,0002 = 137,000
O D124 HRIAE BATOAI AL 5 400,000,00021%99.28% = 397,120
O QISBAHAIL OIS SEAAY DS(0HLES 52 BRETE)
300,000,00021x99.28% = 297,840
O TstaA=| 851 2 242 A 20,000,000} x98.92% = 19,784
O ST B2 HAAY 250,000,0002x99.28% = 248,200
© OIS HRIAE ATHAIOILIXI(BHLZ) SXIZAF 100,000,000 x99.10% = 99,100
O SUIE 545 LA 200,000,0002x99.28% = 198,560
O SHETHEI A B I HESTA 300,000,00021%99.28% = 297,840
0 SUE G145 FHIAY 200,000,000%/x99.28% = 198,560
O SOSE SI4CAIMS B4 2 LS2) FUIBA 150,000,00081x99.28% = 148,920




(200) X=X S & 1 (230) SETIAES NE : (234) =S S © (401) AlEHIL S| CEEEE)
S muey | S oa | B 2 4 = I =

O SHE ol AHIAIY (B XH) 250,000,000& x99.28% = 248,200
O AR 226X EAIE B2 AL 50,000,000& = 50,000
O dl==xel29Y =& XIS Al 200,000,000& x99.28% = 198,560
O DISotEMlAlE QHEAND CHHAIAE AE(130HA) 65,000,000& = 65,000
O == 0t2ot=HelAlE PLCAIAE JHES 280,000,000& x99.28% = 277,984

O DISoIES (M=, S0l [H2 =48] JHEAFS (R 2 10I14A)
150,000,000& x99.28% = 148,920
O REEA EXZAHEHIAPT 2 2J1A) 33,000,000& = 33,000

O OISaIEMelAIE (5o A) 22 SEre] WHIBAHEA! 21 4004)

20,000,000& = 20,000
O SHS ol+=% CCTV & HIAIE 50,000,000& x98.92% = 49,460
O N8N ME SHEZE SASHI|D| 4K 110,000,000& x99.28% = 109,208
O FNR S8 MHel& s=&2=3AHA=I1J| &X 180,000,000& x99.28% = 178,704
O SNR 28 0t=2otXHelAld HE AL 150,000,000& x99.28% = 148,920
O DISolE=X2IAIE SNR 28 HHIZ2AHEFE =22 50,000,000& = 50,000
O 2H S3ot=Hel A8 SERSAIAE 2= 350,000,000& x99.28% = 347,480
O AR DEXH2AIZ(15E 22 WNES) 150,000,000& x99.28% = 148,920
QO UME 2 8IS0 HHAIE(15E =& NEZ) 100,000,000& x99.28% = 99,280




(200) X=X S & 1 (230) SETIAES NE : (234) =S S © (401) AlEHIL S| CEEEE)
S muey | S oa | B 2 4 = I =
O QES olE22 ZHIAMS (LA EH W EA) 350,000,000& x99.28% = 347,480
QO ELl0 QES o622 HHIAS (THLHOHE EE W EA)
300,000,000& x99.28% = 297,840
O M2 =2 HSIAIY(RLHEFH|) 50,000,000& x98.92% = 49,460
O ot=% S0 KHak THE It 10,000,000& = 10,000
ol=AlEEE A& 4,932,373
O 22X sHE 0SS0t JHIAIY 4,031,087,000& = 4,031,087
O SXAX T sHE OFSol=C EHIAIY 901,286,000& = 901,286
50,287 0 50,287 103 A& 20

ot=Zte| &Y Al 20| 33,660
O OIS6t==HelAlE FZHAHAIAE 2= 400,000,000& x0.72% = 2,880

O OISol=HelAlE U2 SSAIAE RE(0HAHEZ Sl B2 T
300,000,000& x0.72% = 2,160
O Xot==AHZSI| EX &L E42At 20,000,000& x1.08% = 216
O D=8 T2 HEAIY 250,000,000& x0.72% = 1,800
O OISOl AlE ATHANI X (ERZ) 2 X2 A 100,000,000¥ x0.9% = 900
O SHS ot TESAH 200,000,000& x0.72% = 1,440
O o= HelPEU ot=Z D HEE S A 300,000,000& x0.72% = 2,160




(200) X=X S & 1 (230) SETIAES NE : (234) =S S © (401) AlEHIL S| CEEEE)
S muey | S oa | B 2 4 = I =
O S0 s o5& HBIAIE 200,000,000& x0.72% = 1,440
O SHS OIEZANEE B4 2 52 HUIZ2AH 150,000,000& x0.72% = 1,080
O S8E ola=% HHIAIZ(HXH) 250,000,000& x0.72% = 1,800
O ==& Hel7< ti=&H8] &XI3 At 200,000,000& x0.72% = 1,440
O == 0ISol=HelAlE PLCAIAE JHE(OIAH = S22 E I H)

280,000,000& x0.72% = 2,016

O DSOS (MsS, ASE) 0l 2 ti=2H] JHEAFS (R 2100 A)
150,000,000& x0.72% = 1,080
O SHS ol+=% CCTV & HIUAIE 50,000,000& x1.08% = 540
O N8N ME SHEZE SASHI|D| 4K 110,000,000& x0.72% = 792
O FNR3Y Xel& &3 HFI|J| &Xl 180,000,000& x0.72% = 1,296
O SNRSE OrSot=HMelAlE HE ALY 150,000,000& x0.72% = 1,080
O 2H S220t=HelAld SHEEIAIAL = 350,000,000& x0.72% = 2,520
O AR DEXHeAIZ(15E X2 WNEE) 150,000,000& x0.72% = 1,080
HE 9 HIZS8H0] JHA AR (15 ZEWEZ) 100,000,000& x0.72% = 720
O MEZE 22 HGAIE (R4HEHI) 50,000,000& x1.08% = 540
O QES ol£22 ZUIAMS (LN EEWEAM) 350,000,000& x0.72% = 2,520




2 (200) XH2HXIE 5t (230) REIRFS Mgt - (234) == 2 1 (401) AIEHILE2THY] (Ctef @ &)
==}
%@H; ; & oﬁii S & & 2 =
OE2I0 RES 51422 MUIAS (LA SH D A)
300,000,000 0.72% = 2,160
SHEAIE T AL SO 16,627
O X7 S0IE DIS64 S HHIAK 10,913,000 = 10,913
O SXATT S0E D264 S FUIA 5,714,000 = 5,714
. 170,000 170,000
= 170,000 170,000
170,000 170,000[01  Al&g]
01 At 170,000
O 2ZTMS 2124 89 120,000,000% = 120,000
0 27514 R S0 02 X2l 8 50,000,0002! = 50,000
A 9,292,031 9,292,031
D zoia 9,292,031 9,292,031
e 404,000 404,000
401,091 401,091 |01 A&
0 27 2T HIAE SEML 404,000,00021%99.28% = 401,091
2,909 2009|038 A&
0 27 2T LHINE SEML 404,000,000 X0.72% = 2,909




(200) Mt=2=XIE g 1 (260) HIDISEHIXIAFS ME @ (261) HAESQIXHA £ @ (402) eIt t=01A (B9l - &)

o - pas | DE=E = o & & oI =
| g (Mg s O & <5
So 0l & 8,888,031 0| 8888031
13,500 0 1350001  EIATEARRE
RSN TS 13,500
O L20ISAIE EXAY 13,500,0002 = 13,500
8,674,531 0| 8874531|02  el2cyEAI)
© 06 BTL AlZRIT) 2,880,581,0002 = 2,880,581
© 09 BTL Al 5,093,950,0002 = 5,993,950
o Tim 1| 1,590,671 0| 1590671
AN 1,590,671 0| 1590671
- 1,590,671 0| 1590671
1,354,461 0| 1.354461|01 =nwxzasea
Fnwxa wel 1,354,461
© 06 BTL AIZRATIZ(14H2 S o) 69,431,000 = 69,431
© 06 BTL AIZQCIZ (1592 Ha) 368,942,110 = 368,943
© 09 BTL AT (149 Ha) 152,168,8902 = 152,169
© 09 BTL AIZRATIZ(15HF S 763,917,502 = 763,918
236,210 0|  236210/02 AlEHEZHE
NEH BE3 praia 236,210




(200) H2=2XE & 1 (290) JIEIMEAXI= Mg : (291) MEBXZ Bist =2 : (751) Brat= () : H2)
ot = Ol A o P = 2 " = ) =
Z | & (HIEh = Ol &F oM
0 ZToFTAA(SY B4 9 WAL 236,000,008 = 236,000
0 NE0IZAIE XA 210,0008 = 210
g?gﬂjl 1,094,110 0 1,094,110
a?ljiltll 1,094,110 0 1,094,110
Z(I)IJIH:H 1,094,110 0 1,094,110
1,094,110 0 1,094,110 | OllElHI 1,094,110,000& = 1,094,110




